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Instructions: Answer all the questions in this paper.

1.
Read the passage below and then answer the questions that follow.
(20 Marks)
Snoring
Snoring, a very common occurrence, affects millions of people worldwide, mostly older adults. Why so many snore is unknown, but the source of the noise is clear. When these people sleep, their throat muscles relax and as air passes over the soft palate (the soft part at the back of the roof of the mouth) it causes vibrations similar to those produced when someone plays a woodwind instrument. Instead of musical tones, however, snoring creates harsh, rasping noises. These sounds are more disturbing to sleeping partners than to the snorers themselves, who are usually unaware of the problem until someone complains of the noise.

Males who snore greatly outnumber women and the likelihood that a per​son of either sex will snore increases with age. Among people in their thir​ties, about 5 per cent of women and 20 per cent of men have the problem, compared with 40 per cent of women and 60 per cent of men at the age of 60.
Snoring can occur at any stage of sleep, but it seems to be most pro​nounced during the REM, or dreaming stages. Sleeping on one's back often contributes to the problem and having the mouth open might also be a factor. However, some people snore no matter what sleeping position they assume and whether their mouth is open or closed. The use of alcohol, tranquillizers, sleeping pills and antihistamines and other medications which relax the muscles of the throat and dry the mucous membranes promote snoring. Smoking has similar effect.
Certain characteristics pro​mote snoring. People who are markedly overweight are three times more likely to snore than those who are thin. Blockage of the nasal passages accounts for some cases of snoring, especially in children with overgrown adenoids and adults who have a deviated septum. 
a)  
According to the passage why has snoring been termed as a very common occurrence? (2mks)
b)  What is the contrast in the second statement?




(2mks)

c)  How does snoring take place?






(2mks)

d)  Basing your answer on the passage is it true that males who snore are greatly outnumbered?  Write your answer in a summary of about 40 words.




(4mks)
e)  Make a list of possible causes of snoring.





(5mks)
f) (i) People who are markedly overweight are three times more likely to snore than those who are thin.

Start:  People who are thin …….







(1mk)

ii)  Snoring can occur at any stage of sleep. Change the statement into a question.

(1mk)

iii) Certain characteristics promote snoring. Add a question tag.



(1mk)
g)   Write the homophones of the following words.





(2mks)


i)
air


ii)
cent


iii)
which


iv)
plays
GRAMMAR

(30mks)
1. Read the instructions in each of the following sentences and answer the questions. (4mks)
(a)  Without changing the order, re-write the following sentence putting punctuation marks at different positions to give two different meanings using direct speech.

 
My mother said Kebaso is a born orator.

(b) Re-write in direct speech
i. The stranger asked me where the shopping centre was.

ii. We told them that we had withdrawn money from the bank that day.

2. Fill in the blank spaces using the correct form of the word in brackets.

(3mks)

(i)  She was reminded that she was not ……………………………… (dispense)

(ii) Such .................................................(vandal) is unacceptable in the school.

(iii) What is the life..............................................(expect) of the average Kenyan today?

3. Explain the meaning of the following idioms.




(3mks)

(i) Bite the bullet.

(ii) A dog in a manger.

(iii) To wear a mask                      
4. Arrange the following adjectives in brackets in the correct order.

(2mks)
(a) She was wearing a __________________________________ dress.(Japanese, silk, long green)

(b) His car was a _________________________________________ model. (French, reliable, twenty-year old)

5. Change the sentences either to the passive or the active voice


(3mks)
i. The oil company has established a petrol station here.
ii. I saw Jane coming late to school.

iii. The rice should be picked in time.
6. Rewrite according to the instructions after each sentence


(5mks)
i. The cow I bought was too tired to continue walking. (rewrite the sentence with ‘so’)
ii. He had finished preaching. A man got saved. (combine as one sentence, begin: No sooner
iii. I like pilau, but not as much as chapati. (Begin: I prefer…)
iv. I enjoy football. My father enjoys it too. (Join into one sentence using ‘Both’)

v.  If you come late to school, you will be punished. (Rewrite using ‘Unless’)
7. Join the following sentences using changing one to a conditional clause.
(5mks)
a) You will not excel. You are lazy.
b) You don’t have permission. You should be in school.
c) We are going to present the poem. We will be given a chance.
d)  The electricity will be connected. You pay the bill.
e) My father will buy me a bicycle. I get an “A” in English.
8. Read the sentence below.







(5mks)



My sister went to the market yesterday.

What difference would there be in meaning if the sentence stress fell on each of the following words.

(i) My 
(ii) Sister 
(iii) Market 
(iv) Went 
(v) Yesterday 
LITERATURE: THE RIVER AND THE SOURCE.


(20mks)
As usual they found Akoko busy weeding her sorghum patch. They simply brought down their hoes and joined in the work. Nothing was said for quit a spell, then Akoko who well knew that at such an hour, her grandson was usually occupied elsewhere asked: 


“What brings Owour here at this hour – it can’t be for love of weeding. He has had something in his mind for a long time and has been as jumpy as an ant with its tail in hot embers. Speak up young man.”


Owour looked at his grandmother in confusion. Naturally he had thought that his secret was well kept. The confusion became respectful admiration. He should have known that nothing could escape this astute woman.


“Grandmother, you know that I have worked closely with the priest and I feel I would like to enter the priesthood. I want to be a priest.” His grandmother was nothing if not surprising, so he should not have been flabbergasted by her reaction but he was.

Questions
a) What had happened just before this incident?





(3mks)

b) They simply brought down their hoes and joined in the work. Who is the other person accompanying Owuor?








(1mk)
c) Identify and illustrate one character trait of Akoko evident in this extract.


(2mks)
d) Identify a simile used in this extract and explain what it means.



(2mks)
e) Owuor has had something in his mind for a long time. Explain/ give reasons why it has been difficult to reveal to his grandmother about it.





(3mks)

f) ‘His grandmother was nothing but surprising’. What answer did Owuor get from his grandmother and why was it surprising?






(2mks)

g) Explain the meaning of the following words as used in the extract.



(3mks)


i. Spell
ii. Astute

iii. Flabbergasted

h) Explain why Owuor was raised up by his grandmother.




(4mks)

6

